

## *Crystal*



Top Layer Serves (Anniversary Cake)	16	@	\$3.00	=	<b>\$48.00</b>	
Servings	264	@	\$3.00	=	<b>\$792.00</b>	
Celestial Cascade	7"	1	@	\$10.00	=	<b>\$10.00</b>
	9"	1	@	\$15.00	=	<b>\$15.00</b>
	11"	1	@	\$15.00	=	<b>\$15.00</b>
	13"	1	@	\$20.00	=	<b>\$20.00</b>
	17"	1	@	\$25.00	=	<b>\$25.00</b>
Votives w/candles on spiral stands	12	@	\$7.00	=	<b>\$84.00</b>	
Votive cups w/candles	4	@	\$4.00	=	<b>\$16.00</b>	
Iridescent fabric w/lights	1	@	\$35.00	=	<b>\$35.00</b>	
<b>Crystal as Displayed</b>				<b>Total</b>	<b>\$1,060.00</b>	

Custom variations available

**Cake Toppers Also Available**

<https://countrycakescatering.com/additional-info/cake-toppers/>

Cakes Flowers are Done by Bride's Florist

**Crystal Wedding Cake from Country Cakes & Catering**

Top Layer Serves (Anniversary Cake)	16	@	\$2.75	=	<b>\$44.00</b>	
Servings	264	@	\$2.75	=	<b>\$726.00</b>	
Celestial Cascade	7"	1	@	\$10.00	=	<b>\$10.00</b>
	9"	1	@	\$15.00	=	<b>\$15.00</b>
	11"	1	@	\$15.00	=	<b>\$15.00</b>
	13"	1	@	\$20.00	=	<b>\$20.00</b>
	17"	1	@	\$25.00	=	<b>\$25.00</b>
Votives w/candles on spiral stands	12	@	\$7.00	=	<b>\$84.00</b>	
Votive cups w/candles	4	@	\$4.00	=	<b>\$16.00</b>	
Iridescent fabric w/lights	1	@	\$35.00	=	<b>\$35.00</b>	

**Crystal as Displayed Total \$990.00**  
Other variations available

**Also Available**

Eternal Promise Cake Top (Electric) **\$139.95**

Cakes Flowers are Done by Bride's Florist

**Crystal Wedding Cake from Country Cakes & Catering**

Top Layer Serves (Anniversary Cake)	16	@	\$2.50	=	<b>\$40.00</b>	
Servings	264	@	\$2.50	=	<b>\$660.00</b>	
Celestial Cascade	7"	1	@	\$10.00	=	<b>\$10.00</b>
	9"	1	@	\$15.00	=	<b>\$15.00</b>
	11"	1	@	\$15.00	=	<b>\$15.00</b>
	13"	1	@	\$20.00	=	<b>\$20.00</b>
	17"	1	@	\$25.00	=	<b>\$25.00</b>
Votives w/candles on spiral stands	12	@	\$7.00	=	<b>\$84.00</b>	
Votive cups w/candles	4	@	\$4.00	=	<b>\$16.00</b>	
Iridescent fabric w/lights	1	@	\$35.00	=	<b>\$35.00</b>	

**Crystal as Displayed Total \$920.00**  
Other variations available

**Also Available**

Eternal Promise Cake Top (Electric) **\$139.95**

Cakes Flowers are Done by Bride's Florist

**Crystal Wedding Cake from Country Cakes & Catering**

Top Layer Serves (Anniversary Cake)	16	@	\$2.50	=	<b>\$40.00</b>	
Servings	264	@	\$2.50	=	<b>\$660.00</b>	
Celestial Cascade	7"	1	@	\$10.00	=	<b>\$10.00</b>
	9"	1	@	\$15.00	=	<b>\$15.00</b>
	11"	1	@	\$15.00	=	<b>\$15.00</b>
	13"	1	@	\$20.00	=	<b>\$20.00</b>
	17"	1	@	\$25.00	=	<b>\$25.00</b>
Votives w/candles on spiral stands	8	@	\$7.00	=	<b>\$56.00</b>	
Votive cups w/candles	4	@	\$4.00	=	<b>\$16.00</b>	
Iridescent fabric w/lights	1	@	\$35.00	=	<b>\$35.00</b>	

**Crystal as Displayed Total \$892.00**  
Other variations available

**Also Available**

Eternal Promise Cake Top (Electric) **\$139.95**

Cakes Flowers are Done by Bride's Florist

**Crystal Wedding Cake from Country Cakes & Catering**

Top Layer Serves (Anniversary Cake)	16	@	\$2.50	=	<b>\$40.00</b>	
Servings	264	@	\$2.50	=	<b>\$660.00</b>	
Celestial Cascade	7"	1	@	\$10.00	=	<b>\$10.00</b>
	9"	1	@	\$15.00	=	<b>\$15.00</b>
	11"	1	@	\$15.00	=	<b>\$15.00</b>
	13"	1	@	\$20.00	=	<b>\$20.00</b>
	17"	1	@	\$25.00	=	<b>\$25.00</b>
Votives w/candles on spiral stands	12	@	\$7.00	=	<b>\$84.00</b>	
Votive cups w/candles	4	@	\$4.00	=	<b>\$16.00</b>	
Iridescent fabric w/lights	1	@	\$35.00	=	<b>\$35.00</b>	

**Crystal as Displayed**      **Total**      **\$920.00**  
Other variations available

**Also Available**

Eternal Promise Cake Top (Electric)      **\$139.95**

Cakes Flowers are Done by Bride's Florist

# Crystal

---

Top Layer Serves (Anniversary Cake)	16	@	\$2.00	\$32.00	<b>\$32.00</b>
Servings	264	@	\$2.00	\$528.00	<b>\$560.00</b>
Celestial Cascade	7"			\$10.00	<b>\$570.00</b>
	9"			\$15.00	<b>\$585.00</b>
	11"			\$15.00	<b>\$600.00</b>
	13"			\$20.00	<b>\$620.00</b>
	17"			\$25.00	<b>\$645.00</b>
Votives w/candles on spirel stands	12	@	\$7.00	\$84.00	<b>\$729.00</b>
Votive cups w/candles	4	@	\$4.00	\$16.00	<b>\$745.00</b>
Iridescent fabric w/lights				\$35.00	<b>\$780.00</b>

**Does Not Include Flowers**